Divisions of polynomials and non-negative integral exponents (show how you arrive at the answer!), the answers are from the actual text book, you need to show how you have arrived at the answer.
Section 4.5, exercise 17 find each quotient
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Answer is: 
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Section 4.5, exercise 21 find each quotient:
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Answer is = 
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Section 4.5, exercise 71 find quotient and remainder in each division:
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Answer: 
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Section 4.6, exercise 25

[image: image7.wmf]4

2

3

2

5

)

(

6

)

(

3

x

x

x

x

=


Answer: 
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Section 4.6, Exercise 41
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Answer: 
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Section 4.6, Exercise 57
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Answer: 
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